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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data

0. 04 -

0. 02 -

0. 00

-0. 02 ~

-0. 04 ~

—o—
+

dFVi
dFVo

2.

5

5.0 7.5

T
12.5
day

10.0 15.0 17.5 20.0

5000 -

4000

3000 -

2000

1000

-3 -
—
——

fz_stock _ec
ECB*10%

T
|
i
|
1
1
|
I
|
|
1
|
1
1
1

5.0 7.5

10.0 15.0 20.0

——

1 o

PHB*10%
PHC

5.0 7.5

12.5
day

10.0 15.0 17.5 20.0

120

100 -

80 ~

60 -

40 -

——

DUC

5.0 7.5

T
10.0 12.5 15.0 17.5 20.0

80 -

70

60 -

50 A

40 -

30 A

20 -

——

FRV

5.0 7.5

12.5
day

10.0 15.0 17.5 20.0

0. 90

0. 85

0. 80 -

0.75 4

1 —o—

FRC

T
12.5
day

10.0 15.0 17.5 20.0

5.0 7.5

12.5
day

10.0 15.0 17.5 20.0




['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],

" lopt’ ],

Plot [['I",

lopt |
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forEQ4AW_W2
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EQ4AW

BYIE) | BRI (F)) | s (EA/ER) | BREE (B/R) | X8 SRR
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EQ4AW

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE

06:15 90 40.0 0.07 B {Ri&@06:15 Fz (KREAEESE)
07:15 90 40.0 0.07 RS {Ri&e07:15 Fzh (REAERSE)
09:05 90 40.0 0.07 | {Ri%@09:05 Fzi (KREEESE)
10:40 90 40.0 0.07 B {BRi18010:40 Fzh (RPERKE)
11:55 90 40.0 0.07 RS Rige11:55 Fz (REEHE)
13:00 90 40.0 0.07 | {BRig013:00 Fz (RPERKSE)
14:05 90 40.0 0.07 B 1Rige14:05 Fzh (REEZESER)
15:15 90 40.0 0.07 BE| Rige15:15 Fz (REAEHE)
16:55 90 40.0 0.07 e Rige16:55 Fz (REAEHSE)
23| 810.0 (9%) 360.0 32U KEC: 1800, PH: 6.2
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B Y4 K REC 1800. 0
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EQ4AW
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ZRIASERRIERE47. 0 ml.
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47.0), FIREKRFBERE
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LORGEBREC (1848.0) S5#EAE (2160) REK K, HHRE.
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Ffig) | JEBATE (F) | ERE (A | BEREE(B/R) | XS EFE

05:30 90 40.0 0.07 FH| 1Bi&@05:30 Fzh (KAEREE)
06:30 90 40.0 0.07 FB| {Ri%@06:30 F I (KRAHERE)
10:00 90 40.0 0.07 |Z=| 1Ri%@10:00 Fz1 (KBFERESE)
12:40 90 40.0 0.07 |Z=| 1Ri%e12:40 Fz1 CGRBERSE)
14:40 90 40.0 0.07 FH| 1Ri%@14:40 F31 (GRBERESE)
2it| 450.0 (50%) 200.0 3EHKEC: 2160, PH: 6.5

WHREHERESTEABEART (65.0 : 47.0), ARE/kREERE
EORGEB AT R IR R RE I (90 vs 77.0))

ZRIASERRIERE47. 0 ml.

MERMEPEHEDIRE, #H RiFHRPHA RIH6.2,4.9,6.0, RERK
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FREVE NS K KEC 2160. 0

FIRGEIEC (725.0) H5igE{E (2400.0) REK K, BFHRE.
LORGEBREC (725.0) ERREVEY (2160) RERKK, BHRE.
LRGERPH (7.4) 5i&EE (6.2) REKK, BHRE.
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